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' unb IRD — Here the basket is below ten o°nou from the
ground.

Overview

The X713 said that our mwn, which is dealing with the 12"7v21 "1v receiving
the objects in baskets, is not in contradiction with the 7v°% of °"72 °"3 who
holds that a basket that is '7 %v "7 and is placed "“» 7717 is a >"i77, because in
our 71wn, the baskets were "»n 7un>, and therefore are not a °"137, but a 7"177,
and therefore he 1s 271.

MBoIN has two questions on our XM3:

1. Why is he 211, even if the basket is "n 7un? Granted that it is not a "7,
but it is not a 2";731 either, rather it is a N5, and therefore the 2"y should
be MW, since he was XX from a °"77 to a N°H»73, and not to a 1",

2. It seems that the reason we are saying that the basket was "“»n 7vn?, is in
order that we should not contradict *''72 °"9, but in truth even without >"12°"9
we must say that the basket was "» mun? for if it were "“»n 172¥yn%, which is a
M5 03P» he would be Mo,

77 RY 79797 nwaT o7 anRn ary — If you will ask: granted that if the basket
is below 10 o 1ov it will not be a 3''19

"7 KD 371 232957 N — nevertheless it will not be a 2'';17 either

n91a00 XK — but rather we will consider this basket as a nvmna3

"7 2m AwSw mas 7y s — like a post which is 3 or more o°ndv high and
has an area of 7 %V '7, which is a n%173, so the question is;

29717 SR2RY — why is the 39977 2"7792 when he placed the object into the s"1v basket,
since the basket has the status of a n"on73, there was no 1"772 033,

29922 NWHRAD PRT Y N — we may answer; that there is no n"»2=> 7 by
utensils

TPy °''wn waIw s — as v"'w1 explains later in the (X771 97) Xmx

915 NI INDIP N7 a8 — concerning the case where one’s box was lying
in the 1"717 ete. The X7n3 says there, that if the box was "7 2771 ""» Mo, one is permitted
to transfer objects from the box to the 7"77. *"w7 questions this ruling, since the box is a
n°on1o, how may we transfer from a 7"77 to a n°9175? >"w1 answers (JXo1 M "7 R,M)
that X177 9921 2°X17 2°%5 nINR 99025 73127 M X9" — that the o°non did not make a 77°73 to

nullify it from the status of 0°93 since it is a *22. A n>9175 therefore can only be a (fixed)
object (in a 1"7), not a (moveable) utensil. Therefore the basket will remain a A",

" See max now. See “Thinking it over’ #1.
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PR YR YT Yy a5 phaxs 1wanh awp — the 9" has a difficulty; What

did the ywp» originally think?* when he asked that according to "2 *"3 the basket
should be a "7, and we answered that it is lower than 10 o°ro0

s URY R PRENRT Y7 T2 Y7 — for he obviously knew that our ;3w
is in a case where the object was placed below 10 2°15v in the 7"77

770 9292 991 9377 Xo79D K92 — regardless of any difficulty with 5''22 5",
meaning that even if we do not hold of >"72 "9 that we say p°0X 7 to make the basket a
*"717, nevertheless we must say that the basket was below 10 o°nov

2YwD @R N v ahynh 97 — for everything above 10 o°r9v in a 7" is a
e 2P
Rn9Y 9910% 2°n» XYY — and no one will say that he is 291, for there is no

prohibition at all for transferring an object to a 7D D1Pn, so obviously the wpn
understood that the s"1¥ basket was below 10 2’150

177 59292 901 9291 01D 71 32 2Ry — so why does the jwpn ask that according

to 9''92 5"'9 the basket is a >, when the Jwpn is well aware that the object was placed
below 10 a°mov.

SR T RY R LR RO RWIWDT RN K7 — it is most elementary that
lower than 10 2’1150 there is no 3"

(R,u2 57 1pY) PTIR 12PY 120 817 — for we have learnt in a mawn, in P17 P19
pYorm 27 N9 — the surrounding wall of a pit, and a boulder

"7 2921771 "> 29mas anw — which are 10 o°nov high and have an area of 5y '7
"7, the 7 1s —

2% 123 B 30T ann Yuun — whoever takes an object from on top of them
and places it in a 7"'777, or whoever takes an object from the 17"77 and places
it upon them he is 2%°n

Twp Ron np — if the size of the pit’s wall or the boulder are less than
either 10 o°nov high or 4 o°nov wide, he is MWL for it is not a >"7"

" hrnh RDR IBR KD TN "ata 0 any Xwwny — and it is therefore

obvious that '3 51 is talking only if the basket is above 10 2190 from the
ground. Why then did the ywpn ask his question when the s'R13 answer "7 7701? 1D must
have been obvious to the Jwpn. NMoOIN gives no answer to this question.’

Summary
A %3 1n a "7 does not become a n¥9n7d; rather it remains in the confines of

a 1", as opposed to other objects that do become either a 2P R Non71
M2 in the 7"77.

The assumption should be that an 2"772 7mIm APy, must be “»n nwunb,
because "1 77vn? is a wd pN.

2 See 2717 WY, 9w naw. See ‘Thinking it over” #2.
? See X"2wn. See ‘Thinking it over’ # 3.
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Thinking it over
1. We quoted *"wn as saying 2°?2 nnn 21027 1327 3 X9, which seems
different from the way moon may have understood >"2.*

2. There seems to be no connection between *"% 7w to what preceded it”.

3. Can we distinguish between a basket hovering in the 7"777, and a post that
is resting on the 1"77, in regards to its status as a n*>n13?°

* See Footnote # 1
3 See Footnote # 2
® See Footnote # 3



